
 
 

 

COPYRIGHT TRADESMAN ROOF RACKS | WEDGETAILRACK.COM.AU 

 

Congratulations on the purchase of your 

Australian made Wedgetail Roof Rack accessory.  

 

Please follow these instructions carefully 

 

 

 

 
ITEM 

NO. 

PART NAME QTY 

1. Support Plate 1 

2. M8 Stainless Bolt and Washer 8 

3. M8 Flat Washer 4 

4. M8 Nyloc Nut 4 

5. M8 Channel Nut  4 

 

1. Place the Light bar support plate on the Wedgetail 

platform when it is upside down. 

2. Assemble the M8 bolt & washer and the channel 

nuts. Ensure each channel nut is 90 degrees to 

crossbar. 

3. Assemble the wind deflector and support plate to 

front bar using M8 bolt and nuts provided.  

 

 

 

 

 

 

 
 

4. Once in the correct position tighten fasteners 

securely, check at frequent intervals. 

 

Wiring in perimeter Wedgetail extrusion 

Holes can be drilled on the inside section of the 

perimeter extrusion to cater for lightbar wiring 

etc. Wiring gromets should be used to avoid 

water ingress. 

However, holes should not be drilled through the 

wedgelock connection or the area where it is 

fastened, or the structural strength of the roof 

rack will be compromised. 

 

 

 
 

WTA-LBS 

Position lightbar support 

plate forward or backward 

according to the size of the 

light bar 

Light Bar Support Plate Installation Guide 

Do not drill in these 

areas.  


